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PART -1: GENERAL ENGLISH
1.  Can we go this way to reach the Post Office?

(1) seeking information (2) makingarequest
(3) seeking permission (4) making asuggestion
2.  What made Maya Bazaar a land mark movie?
(1) Direction of K.V. Reddy (2) Dialogues of Pingali Nagendra
(3) Sterling performances of stars (4) Allthe above

3. Combine the following sentences using ‘neither-nor’.
Mr. Rao 1s not attending the meeting. Mr. Prabhu is not attending either.
(1) Neither Mr. Rao is attending the meeting nor Mr. Prabhu is attending the meeting.
(2) Neither Mr. Rao nor Mr. Prabhu is attending the meeting.
(3) Neither is Mr. Rao nor is Mr. Prabhu attending the meeting.
(4) Mr. Rao is neither attending the meeting nor Mr. Prabhu is attending the meeting.

4. Whatis the theme behind the lesson “I will Do It”?
(1) Narayana Murthy’s achievement of 117 seat.
(2) A person needs support from the family to achieve something in life.
(3) Every person has success and failure in life.
(4) One who is intellectually and ethically strong can become an icon of success, even
though from an ordinary family.

5. “My laugh in the mirror shows only my teeth like a snake’s bare fangs!”.

What is the figure of speech in the above lines?

(I) Metaphor (2) Simile (3) Alliteration (4) Personification
6.  Hewas inreality a very simple and unassuming man with a subtle sense of humour. What is

the synonym of the underlined word? . o
(1) smooth (2) unnecessary  (3) unnoticeable (4) intolerable

7. ‘Bye! see you again’ ..... This expression fits well for a
(1) Diaryentry (2) Conversation (3) Articlewriting (4) Advertisement

8.  Find out the wrongly spelt word.

(1) elegance (2) speculation (3) govemance (4) occasion
9.  ‘IfI were you, I would donate half of my money to the poor’. This is the best example for

(1) complementing (2) suggesting (3) accusing (4) thanking
10. What do we call ‘a person who is responsible for a problem or a crime’?

(1) Publisher (2) Massive (3) Culprit (4) Cardiologist
11. Heis___ about technology.

Fill the above blank with suitable options given below.

(1) ignorant (2) innocent (3) indecent (4) inefficient
12. List out the positive qualities from the following.

a) self centred b) imaginative c) affable d) reliable

(1) (a)and(d) (2) (b),(c)and(d) (3) (b)only (4) (c)and(d)

V-General English 3-E
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13.

What kind of a person was Elizabeth Jordan?
(1) witty (2) complacent (3) generous (4) humorous

14.

What is well explained through ‘A tale of three villages’?

(1) how to overcome pollution

(2) what are the precautions to be taken to stop pollution

(3) how ‘Pollution’ could affect the environment and mankind
(4) the flourishing of factories in villages

IS

Identify the quantifier that best fits in the blank given below.

Pollution is such a grave problem that person has to think about it. 7
(1) all (2) any (3) no (4) every

16.

Which of the following are alliteratives?
a) hodge-podge b) tip-top c) itsy-bitsy d) tick-tock
€) see-saw

(1) (a)and(b) (2) (a)and(c) (3) (b),(d)and(e) (4) (a)and(e)

&

What was the writer’s intention in portraying the story ‘What is My Name’?
(1) the basic identity of women at home and in the society.

(2) how to overcome the problem of men domination.

(3) how to keep the house clean and design muggulu.

(4) how to bring up children efficiently.

18.

‘Please take your seat!’ This expression means — :
(1) giving permission (2) requesting permission
(3) making an offer (4) seeking permission

19.

Which of the follawing words comes first in dictionary?
(1) Fierce (2) Freak (3) Fuel (4) Fossil

20.

Change the voice

Father has answered my phone call.

(1) My phone call has been answered by father.

(2) My phone call has answered by father.

(3) My phone call was answered by father.

(4) My father has been answered by my phone call.

21.

It rained heavily. But we didn’t postpone the shooting.

(Combine the sentences using ‘In spite of”)

(1) Inspite of it rained heavily, we didn’t postpone the shooting.
(2) In spite of heavy rain, but we didn’t postpone the shooting.
(3) Inspite of its rain, we didn’t postpone the shooting.

(4) Inspite of heavy rains, we didn’t postpone the shooting.

25

Choose the right prepositional phrase for the sentence given below.

Giri went to the station his father. _
(1) in place of (2) bymeansof (3) inadditionto (4) alongwith

V-General English 4-E
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23.

Gowtham, who went abroad last year, came back to his motherland.
(Identify the type of clause in the sentence)

(1) Defining Relative Clause (2) Non-defining relative clause
(3) Ifclause (4) Independent clause

24.

What is/are the important elements in Biographical sketch?

(1) Personal information (2) Career
(3) (1)and(2) (4) asignature

23

The minimum characters necessary for a conversation are :
(1) 1only (2) 2 (3) morethantwo (4) all the above

26.

Which are the elements included in a letter writing?

(1) Date and address (2) Salutation and subscription
(3) Body of the letter (4) Allthe above

The meeting is postponed. So we resumed our usual work.

(Combine the sentences using ‘since’)

(1) Since we resumed our usual work, the meeting is postponed.
(2) Since the meeting is postponed, we resumed our usual work.
(3) Since the meeting is postponed, so we resumed our usual work.
(4) The meeting is postponed since we resumed our usual work.

28.

Which among the following is NOT a feature of a one act play?
(1) One setting (2) Minimal characters
(3) asubject/theme (4) Fantasy

29,

It was a/an situation that left a lasting impression on the teacher.
(1) unforgettable (2) occasional (3) recalling (4) uncontrollable

30.

“We don’t have enough basic needs like food, water and energy”. This statement shows —
(1) gratitude (2) adequacy (3) inadequacy (4) prediction

31

My little sister is fond fairy tales.
(Choose the right preposition)

(1) at () of (3) to (4) by

32

Combine the sentences using a relative clause.
The king presented his daughter a bird. It sang sweetly all day.

(1) Theking presented his daughter a bird who can sing sweetly all day.
(2) Theking who presented his daughter a bird sang sweetly all day.

(3) Theking presented his daughter a bird which sang sweetly all day.
(4) TheKing’s daughter sang sweetly with the bird all day.

33.

The challenges in our lives are there to strengthen our convictions.

(Find the synonym of the underlined).
(1) contentment (2) fears (3) beliefs (4) desires

V-General English 5-E
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34. What does the narrative of colonel Sanders prove?
(1) One can’t earn more than 100 $ at the age of 65.
(2) One who doesn’t give up can achieve success even at 65.
(3) One can try mother’s recipe at the age of 65.
(4) One can knock atleast 10 doors only to receive an order for his recipe.

35. What was the philosophy behind the poem ‘Or will the Dreamer Wake’?
(1) The need for protection of Wild life.
(2) ' The need to incite the human being towards rehabilitation of animal world.

(3) The fear of extinction of animals.
(4) All the above.

36. My austere father used to avoid all in essential comforts and luxuries.
: (Find the antonym of underlined word)

(1) deny (2) expect (3) accept (4) quit
37. What does the binomial “odds and ends” mean?

(1) difficulties (2) abigchoice

(3) unimportant things (4) anintegral part

38. What was Walt Disney’s invention?
(1) Mickey Mouse (2) Triode tube (3) Electricbulb (4) Kentuckychicken

39. Ifyouinvited me, I attend the ceremony.
(1) had (2) would 3) will (4) wouldhave

40. They may notapprove my request.
(Change into passive voice)
(1) Myrequest may notapprovethem.  (2) My request may not be approved.
(3) My request may approve them. (4) My request is not approved by them.

Question No. 41 to 45 : Read the following passage.
" Ateenage boy from a village moved to the city for a job to support his family. He applied
for a job in a big firm. '

After some days, he went to attend the interview. He successfully cleared all the tests. The
hiring manager, “You are hired, give me your details for further processing. Also make sure that
your bike is in good condition, as you have to do a lot of travelling to meet the customers”.

The boy replied, “Sir, but I don’t have a bike with me”. Hiring Manager, “Without a bike,
you will not get this job, you can leave”.

The boy left the place thinking about what to do next. He had little money with him. But he
does not want to return to his village without a job. He came across a big vegetable market. He
sparked with an idea. He decided to buy vegetables and sell from door to door. This went well with
good profits, so he continued his hardwork and developed his business as a food chain retailer.

After a few years, his friend visited his home and found many cars in the garage of his big house.
The business man’s friend asked, “You have a good collection of cars, do you have any bikes?”” The
man smiled and replied, “If T had a bike, I wouldn’t have had these many cars. This is my destiny”.

Answer the following questions :

41. Why did the boy move from village to city?
(1) togetmarried (2) toenjoylife (3) tofindajob  (4) to find friends

V-General English 6-E
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42. Whatkind of job did the boy get?

(1) ajob to meet customers (2) ajob to look after the company
(3) ajobofhiring manager (4) hedidn’t pass the interview
43. 'What was the reason he was not hired for the job?
(1) Hedidn’t clear all the tests (2) Hedidn’t satisfy the hiring manager
(3) Hedidn’t like travelling (4) Hedidn’thave abike

44. What did the boy decide when the hiring manager refused to give him a job?
(1) The boy decided to leave the city
(2) Theboy decided to buy a bike
(3) The boy decided to stay in the city till he gets a job
(4) The boy took loan to buy a bike

45. Which message best suits the story?
(1) One should never give up in despair.
(2) One should buy a bike to secure a job.
(3) Itis necessary to do marketing to become successful.
(4) Ifyou fail in interview, you should go back to your family.

46. Which among the following is NOT a right statement about Wangari Maathai?
(1) She was an Environmental activist
(2) She was the leader for Green Belt Movement
(3) She was a feminist
(4) She was anative of South America

47. We should complete this construction by next week.
(1) obligation (2) pasthappening
(3) present reference (4) inference

48. AsIwas going to take my first sip, | heard father’s voice.
Which kind of Adverbial clause is the underlined part?
(1) condition (2) time
(3) reason : (4) result

49. What qualities in Nick made him an International symbol of triumph?
(1) Nick’s bravery and perseverance
(2) Nick’s humour and wit
(3) His fear and hesitation
(4) Nick’s disability and rare disease

50. The poem ‘A plea for India’ urges for
(1) aviolent India
(2) astrong, united India
(3) inciting leaders
(4) selfish mothers

V-General English 7-E
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PART - II : BIOLOGY

Find out whether the following sentences are True/False.

31
A)  Pesticides containing mercury, Arsenic, Lead can be degraded easily.
B) Industrial water wastes containing Arsenic are the main cause of Minamata disease.
(1) (A)is true (2) (B)istrue
(3) (A) and (B) are true | (4) (A)and (B) are False
: _Z s G S
e P e QT A AP (Lead) e bisTeod (A
—& 22 d/ Sse(Minamata) <022 (Arsenic) G Tz S L Dt (B
<~C0®B) @ <o @) )
< BiUMm(B)AIA)  (4) +§u}s;(B)J,l(A) 3)
52.  What will be the phenotypic ratio of this given table.
5 —e WG s
ValEs el
Y LYYy
Y [ ¥E 1Y
1)y Ll (2) . 31 i 7
53.  “When we cut trees to construct industries or roads for transportation it is important
to grow trees in another area”. This denotes which components of 4R’s?
(1) Reduce (2) Reuse (3) Recycle _ (4) Recover
4_./»J:J/c"_d.uf":a;’uji(fu?jﬂfj_éd‘_h:{u[‘/iéﬂfgiLHJU?;‘??_;.&:
e bt ZILILARS o Kes i Ll
(Reuse) J&15L  (2) (Reduce)i¥® (1)
(Recover) I ) (Recycle) wzs00ib  (3)
54. Digestion starts in this part.
(1)  Stomach (2)  Small intestine
(3) Oesophagus (4) Mouth
ettt 2y
=132 ) (Stomach) e (1)
(Mouth) b/ (4) ér1 O
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55.  Find out the correct sentence/s.
A)  Chromosome is the segment of DNA.
B) Traits are determined by the chemical nature of DNA and a slight change in it
leads to variations.
(1)  (A)is correct (2) (B)is correct
(3) (A) and (B) are correct (4) (A) and (B) are wrong/incorrect
_Ewblul 16
| 2 --:'_.A?K DNA (Chromosomf:)r‘a,?!"ur (A
—e st B A 2 Ut Sl b (Traits) UA2 2 3L 0L SDNA (B
E® O cEw O
U B)IA)  (4) GEUmBAIA)  G)

56.  What is the length of second Brain?
(1) 6 meters (2) 7 meters (3) 8 meters (4) 9 meters

?‘LJ{‘;P}J&LJL/M
49 @ 8  (3) AT () A6 (1)
57.  Studies on details of inheritance in Drosophila were carried out by
(1)  Crick and Watson (2)  Setton and Morgan
(3)  Lavoisier and Cavendish (4) Darwin and Wallace
| - l&/{)ﬁ(}f‘; KJf O~ Drosophila Uy
Morgan ! Setton  (2) o fml.“f ' (1)
Wallace 4/ Darwin ~ (4) Cavendish »/ Lavoisier  (3)
58.  Which humans were lived about 15,000 to 10,000 million years ago?
(1) Homo Neanderthalensis (2) Homo sapiens
(3) Homo erectus (4) _ Homo habilis
Gt iti i &t J 10000 £15000 YIS
Homo Sapiens  (2) Homo Neanderthalensis (1)
Homo habilis  (4) Homo erectus  (3)

59.  “Offspring receives its own pair of alleles for the trait, one each from both the
parents” - To which law does this sentence belong?
(1) Law of independent Assortment (2) Law of segregation

3) _Law E)f Dominance (4) Law of genetic drift -
&CJWLJA;QZ,-q_I:/J‘{aL@Aou»%.lQK.g.gd/}ﬁéuﬂ;yééwﬂ’@{.
| -+
(Law of Segregation) .5 Kfﬁ.{’ ) 1 KJA‘.‘;IJUT' (1)
LGL6% @) )
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60.  Seeds of this plant are used for the production of bio-fuel.
(1)  Azadirachta indica (2)  Atropa belladonna
(3) Jatropa curcas (4)  Tridax procumbence
,wawfuféé.ymz’_édmJu’,wdb
Atropabelladona  (2) Azadirachta indica (1)
Tridax Procumbence  (4) _ Jatropa curcas  (3)
61. Expand ART
(I)  Anti Riboviral Therapy (2)  Anti Reaction Therapy
(3)  Anti Retroviral Therapy (4)  Anti Rabies Therapy
-0 ART
AFSE @ G A (1)
AU @ QA @)
62.  Find out the correct statement/s.
A)  Inhalation and Exhalation are under the control of Medulla oblongata.
B)  The mechanism of swallowing is co-ordinated by the swallowing centre 'in
, the brain stem. |
(1)  (A)is correct (2) (B) is correct -‘
(3)  (A) and (B) are correct (4) (A)and (B) are incorrect
NI AN A Jn’f
_u"z:_,ru" J:/’ZJ’M { ¥ (Exhalation) /-’u:l(lnhalatlon)u’?') QA
_Ll:'ru" (Brain Stem).‘—’(f L)//(L);’G}(J lat‘chCLlufud J! l{é (B
<E® @ O
JrBkUds(B)ssl (A)  (4) 1 (';u)»(B)J:I A @G
63.  Which of the following is/are the function/s of Adrenalin.

a)  Growth of skeleton of pelvis

b) Secretion of progesterone

c) Increasing the level of Sugar in Blood
d)  Dilation of the coronary artery

-ujdbilﬁurzg(Adrenalin)u‘-‘-;d;él‘_): dt”

K Progesterone (b ¥ l{é_lméh {a
R LB LS (o

(1 (. () @ (®).() G) (). (d) @ (.
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64.  Which of the following has pulvinus leaf base?
() - Leafof Tridax (2) Leafof Oat
(3) Leaf of Mimosa (4)  Leaf of Sunflower
..‘Ldnc:é(/Pulvinus 4JV’¢CU}?-Ufu{)fJ_5».:M’
2 Loat (2 &L Tridax (1)
z__,_&f((-,m (4) L Mimosa  (3)
65.  Fill up the blanks (a), (b).
Our nervous system consists of around (a) nerve cells. Myelin sheath
of nerve cells is made up of Schwann cells and (b) material.
(1)  (a)-10 million, (b)-protein (2)  (a)-10 billion, (b)-fatty
(3)  (a)-10 billion, (b)-protein (4)  (2)-10 million, (b)-fatty
- (b)s@unde
S bt UB B O e bt s () LA
£ - el (b)
() - ) f10-@) @ oy -®)Fo-@ )
() - ) ¥10-(a) (4)  oFry - D) «l10-@) ()
66. Match the following.
A B
i) Nematoda a) Metanephridia
ii) Mollusca b) Nephridia
1)  Reptiles c) Renette cells
iv)  Annelida d) Kidneys
- iz
B A
59 RN 54 (G
¥ o o G
<“Renette  (c (e (i
| P S kel (iv
(1) (@-c, (i)-a, (iii)-d, (iv)-b (2)  (i)-a, (ii)-b, (iii)-c, (iv)-d
() ()-a, (iD)-c, (iii)-b, (iv)-d @) (i)-c, (ii)-a, (ii))-b, (iv)-d

V-Biology 11-E
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67. Find out the incorrect statement/s.
a) Presence of Resin ducts is the characteristic feature of Angiosperms.
b)  Gums are used in the preparation of food materials.
¢)  Tannins are the nitrogenous compounds.
d) Scopolamine is an insecticide.
_ZE B EUM 1 Ak
- = J Angiosperms {J)’rl& Presence of Resin (a
e bt
| — .:.«l_);'@y"/tu’g L ¥e
- Fet 22l Scopolamine  (d
1 ®h©.@d @ @@C.d 6 @ b),c @ (@b),Ccd
68 . Fruit of which plant produces an alkaloid, used as pain killer?
(1)  Papaver (2) Caffia (3) Azadirachta (4) Nicotiana
= bﬁ&favaain killerPon S Ké-);’:d.f
i @) Ui (3) B¢ (@) AL ()
69.  Assertion (A) : Apersonwhotakes carbohydrate diet produces more Ureain the Urine.
Reason (R) :  This is due to deamination that occurs in the pancreas.
(1) (R) is the correct explanation for (A).
(2) (R) is not the correct explanation for (A).
(3) Both (A), (R) are incorrect.
(4) Only (R) is correct.
_.;_mrg,upg;gut._,ug,éJ’lué_/dwuﬁu@:ggzﬁ H(A) (G
-atne o e deaminationu:.wg : (R)22
LB W® M
LW ® @
—UPEEUR)AI(A). (3)
LE®RI @
70.  Length of Urethra in females and males is

_.«T'.;t‘ﬂl:-}/' Erd:uy/)'ﬂu;)fdlf
(1) 2cm,10cm (2) 4cm,20cm
3) 2cm,15cm (4) 4cm,10cm

V-Biclogy 12-E
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71.  Sequence of Urine formation in Nephron is
(1)  Glomerular filtration — Tubular reabsorption — Tubular secretion
(2)  Tubular reabsorption — Tubular secretion — Glomerular filtration
(3)  Tubular secretion — Glomerular filtration — Tubular reabsorption
(4)  Tubular reabsorption — Glomerular filtration — Tubular secretion
P AT S
MG « Bt « Adr )
Aidr « ;t/'uf_,t o _,u;’uggf_,t )
PNt < Pt < ipidt  G)
J!)ruf,t « PUdr « v:g‘ugét 4)
72.  Time taken for elotting of blood in an injury.
(1) 2-5 min. (2) 3-6min.
(3) 10-15 min. (4) 15-20 min.
-‘Lt‘x,ofu-‘.'wZU}?‘LCfﬂ?z
24683  (2) _ L2582 (1
LA20015 (4) RN E10 - (3)
73.  Fill up the blanks (a), (b). :
After the age of (a) yrs. the number of functioning nephrons usually
decreases by about 10% in every (b) VyIS.
B OO
U0 e dn1odfu #Ael AU ()
(1) (@)-50,(6)-20 ) (@)-40,(6)}20 (3) (2)-30,(b)-15 (4) ()40, (b)-10
74. - Find out the incorrect statement/s.

A)  When a person drinks more water, secretion of vasopressin will be more.
B) Urine has 90% water.
C)  Humans excrete 1.6-1.8 litre of Urine per a day.

AR ICAEAT
-c‘:_l:'ﬁui_,;'f:ﬂ/.iKVasopressin?‘.r_g.;.Jguyujféf..,e (A
—e b dlO0% A (B

et/ et 18 P16t LIl (C

(1) (A ©) 2 ®B)© 3) (A, B) “4) (A),(B),(©)
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75.  Fill up the blanks (a), (b), (c).
A fully grown maize plant transpires (a) litres per week. A big Mango
tree will transpire from (b) to more than (c) litres of water
per day, during spring season.
-2 (@), (b), (UL
Lok JUlhefrigh Tl /K @ 2 Ling§ g vl
-a_L/J"'dL P & e sTaals
(1) (a)-14,(b)-650, (c)-2500. (2) (a)-15,(b)-750, (c)<3500
(3) (a)-3,(b)-150, (c)-1500 (4) (a)-10, (b)-150, (c)-1500
76.  Match the following.
: A B
i) Stethoscope a) Went
ii) Kidney Transplantation b) Malphighi
1))  Auxins c) Renellennec
iv)  Blood capillaries d) Hoff Nagel ;
‘ - Wi
B e A
Went (a Stethoscope (i
MalphighiflL (b Genduns
Renellennec (c Vg Al (iii
HoffNagel  (d =L AP (v
(1) (@)-d, (iD)-c, (iii)-a, (iv)-b (2) (-, (iD)-c, (ii))-b, (iv)-a
()  ()-c, (ii)-d, (iii)-a, (iv)-b (4)  (i)-d, (ii)-b, (iii)-a, (iv)-¢
77.  Find out the incorrect statement/s.

a) In platyhelminthes, the digestive system is highly branched.

b) In Annelids there is no transporting medium.

c) In Nemathelminthes true coelome is present.

d) Intracellular transportation system is present in multicellular organisms.

-é &»UJ&M&'
_Lt'nﬂwl/rl!z!d"u"u:‘wu'& (a
_:_m;r/.bfb&“’u‘uw (b
..Lt'!'}ff/"dy e Uwaf (c
_c_tloLLruy&Vd)"u"u"uuutpdﬂ"/ ¢
(1) (), (d) 2) )@ 3) (a.(®) 4 (e (d
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78. Lungs : Humans : : Stems :
(1) Guardcells (2) Trachea (3) Stomata (4) Lenticels

R cJL-:‘f ¢_b/:.‘.”§

Lenticels  (4) “Hb ()  Trachea (2) Zsk (1)

79.  Which of the following organisms absorb Oxygen by diffusion, through the body wall?
a) Hydra b) Amoeba c) Cockroach d) Planaria

g b/'/(_)'il:'?}_)}é:d/) »defJ-Juu laufu“d';u/’

Lelk (d = (c (ol (b ) (a

(1) @@ @ @®eE G ()b “4)  (a), (b), (d)

80. F111 up the blanks (a), (b).
AT e resplratlon occurs in the Cytoplasm In b} ' some past of
respiration occurs in Cytoplasm and remaining occurs in ___ (¢)_~
(1)  (a)-Bacteria, (b)-Eukaryotes, (c)-Mitochondria
(2) (a)-Bacteria, (b)-Prokaryotes, (c)-Vacuole
(3) (a)-Fungi, (b)-Blue green algae, (c)-Vacuole
(4) (a)-Eukaryotes, (b)-Bacteria, (c)-Mitochondria

: 254 (a), (bl
P R R e bLIUELBU 1 ()
_c-_t'nﬂ (c) o
3 @) eI @)@ )
(o) il i Lk .@ @
5@ drk-md e 6
27 2@ 4 ) I J@ @

81. Assertion (A): Light phase is also called as biosynthetic phase.
Reason (R) : Synthesis of biomolecules occurs in this phase.
(1)  (R) is the correct explanation for (A).
(2) (R) is not the correct explanation for (A).
(3) (A) is incorrect. |
(4) (A), (R) incorrect.

e Ee el dl (A
e Gl Qo s R)
ez G (A ®) (1)

e S lGd W) ®) @

- A (3)

~UJIEEUA(R)4I(A)  (4)
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82.  Which of the following is an uni-cellular organism?
a) Cuscuta b) Amoeba c) Paramoecium d) Rhizopus
(I)  (a)only (2)  (b)only 3) ®),(@ 4) (a) (b)
Rhizopus (d (-?‘f;- (c bl (b Cuscuta (a
(b)si(a) (4) (c)#i(b)  (3) b2~ @<~ (1)
83.  Find out the incorrect statement/s.
a) During photosynthesis O, is evolved from CO,.
b) During light reaction Assimilatory power will be formed.
c) Dark reaction oecurs during the nights.
d) Chlorophyll ‘b’ is green in colour.
(1)  (c)only (2) (a), (), (c)
(3) (@) (c) (d) (4)  (b)only
S GLBSLE b
_f_dn'b;l}uf:( Tc..COZ ub.ud:h.f;( - (a
-t Z s (Assimilatory Power) U ;’.J/ el JISLE (b
_‘at‘ﬁdbuﬁiséabg}b’"u{;t‘ (c
bk vk
(@), (), () (2 @<~ 1)
(b=~ @) (@).(c),(d (3)
84.  Match the following.
i) Pancreas a) Peptidases
ii) Intestinal glands b) Bile
ii1)  Salivary glands c) Lipase
iv) - Liver d) Ptyalin X
Ui
B A
Peptidases Uz 5 (a Ak
Bile vz (b nader (i
200 (c »aQW (i
o« £ G
(D @-c, (i)-d, (iii)-a, (iv)-b (2) (-, (ii)-c, (iii)-d, (iv)-b
(3)  (i)-c, (ii)-a, (iii)-d, (iv)-b (4)  (i)-c, (ii)-d, (iii)-b, (iv)-a
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s’

85.  What does the part ‘X’ denote
(1)  Oesophagus
(2) Stomach
(3) Liver
(4) Villi x %
' —e B X oty
g O
0w (2)
£ 3
Villi (4)
86.  Fill up the blanks (a), (b).
Walls of small intestine secrete (a) , (b) get digested partially in
the stomach.
(1)  (a)-Succus entericus, (b)-Carbohydrates
(2) (a)-Amino acid, (b)-Fats
(3) (a)-Gastric juice, (b)- Protems
(4) (a)-Biles, (b)- Fats
-2 (@), (b)ur‘du
_Ldrf”/nbdsiu"c.m u*d/Gl/.lK J'}'JJ;./ ld}”’
u" 142\ 408 - (b) « (Succus entericus)Uv( T - @) (1)
UkZ-b) &7 -@ @
Frp - (0) U - @) ()
Ve -bB) iz -0 @
87.  Find out the correct statement/s.
a) Gastric Ulcers are caused by Bacteria.
b) Kwashiorkor is a protein, calorie deficiency disease.
c) Villi in the stomach increase the area of absorption of food materials.
d) Digestion of carbohydrates, proteins, fats occurs in the food pipe.
(1)  (b)only (2) (d)only (3) (c)only (4) (c)and (d)
et | ok Bt S i
-l szl FUlces) b (a
ek SF ez QL5
_u‘;.):sl.olu*,.}/ du:"'lu’c.w\fﬂh (c
_U‘L.:f‘l‘”u"jfﬂiuti JJ#L)’JKJJLGU‘ (d
(d) #i(c) (4) <7 () (CVES N V) b=~ 1)
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88. How many autosomes, allosomes are present in human beings'?
(1) 21+2pairs (2) 22+ 1pairs (3) 19+4pairs (4) 3+ 20 pairs
Ut L2 L Allosomes L2135 DairtaiSazin L Ul
I¥20 A H19r4 - By L2222 (2) R21+TT Y
89. Sex of a foetus depends on
(1)  Amount of regulatory hormone from pituitary
(2) Amount of sex hormone
(3) Type of ovum
(4) Type of sperm
...L.t'/‘/ J"JKJWLJJJY‘!
oA @) orhd e wid | )
A (Sperm)# (@) (Ovum)r)d/,.ﬂf 3)
90. Pituitary gland is located below the
(1)  Vas deferentia (2)  Thalamus
(3) Medulla oblongata (4) Hypothalamus
- bl LLJ 'JJﬁ(PItUltary)JL
Thalamus 2/  (2) b:vd’t (1)
2 @) S @)
'91.  Identify whether True or False. :
a) During puberty testis secretes testosterone.
b) Embryo sac is a 7 celled 10 nucleated structure.
(1) (a)istrue (2) (b)istrue
(3) (a), (b) are true (4) (a), (b) are false
Rl
-t ZJi1)16 Testosterone dfuw;z:uww’ @
_c.u?l/g}/}u:);'l()ﬂlﬁ'ly (b
<o @ S@
o seb) @) (4) r_(’f b)si@  (3)
92.  Which of the following can spread AIDS?
a) Mosquito bite b) Transfusion of infected blood
c) Intercourse with infected person d) Eating food with an infected person
..LJFJ.AJ(JMJAIDSJ:JJJ
Fluige 1730
WAL P (@) =B el (©

(1) (a)(®) 2) (0),(c) (3) (b),(d) 4 (0,
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93.

Which of the following will occur during the prophase of Mitosis.
(1)  Centromere divides forming two chromatids.
(2) Chromatids are pulled towards the poles.
(3) Chromatids turn as chromosomes.
(4) Division of cytoplasm. - e
_é.tﬂd'l:fdéi/ﬁlgiﬂﬂué}
wlbtuInimr ()
S ST 2 TV S )
Ut gt litn) ()
ik @

94.

Find out the correct statement/s.

a) Amoeba reproduces by budding.

b) Organisms can reproduce either sexually or asexually.
c) Jasmin is the example for Runner.

(1) (a)only (2)  (b)only (3) (), (b) 4) (b), (0
Ay
—c b L5 (a)
~FE P AT (b)
_g:'_.JL"P'd/ Runners « Jasmin  (c)
b @ @b 6 O @ @I O

95.

Most of the fresh water on earth surface is found in
(1) Underground(2) Oceans (3) Glaciers _ (4) Rivers

~eEllb s 10U/ La b s UL £

96.

Ui (@) i B) P
To which group of plants does this belong?
(1) - Sucker
(2) Runner
(3) - Fem
(4) Stolon

_,‘g[}zlj&l"’;?,,fiﬂ;g:,
Stk (1)
S

U/ S
@)
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97.  Which of the following is/are correct regarding chloroplast?
a) Chloroplasts are present only in animals.
b) Chloroplasts store fat.
b)  Chloroplasts are the type of plastids.
d) Chloroplasts produce energy rich ATP molecules.
-c.ub-é“}wc_wl{:urg
-LUELLJUJJJ’EJ/‘JBJJ}K @)
_c_t/ Sifdzac® | @)
...c.()\.f iSus uc.../u,u)’ ©
...L.t‘/ 2 ATP..«uw‘ )
(1) (@), (2) (b)) 3) ©.@ @  (b).(d
98. Deficiency of the following cause anaemla’?'
(1)  Thiamine, Pyridoxine
(2)  Folic acid, Pantothenic acid
(3) Pyridoxine, Folic acid
(4) Biotin, Pyridoxine
e Qe T U(Anaemxa)rb.’f/“’r_. J/ 11 J(
.a/ﬂrtﬂ,/._ﬁ S SIS | )
UTHEH FEL @) 2502 FB87 | (3)
99.  Assertion (A) : The diameter of efferent arteriole is less than that of afferent arteriole.
Reason (R) :  Efferent arteriole does not participate in excretion.
(1) (R) is the correct explanation for (A).
(2) (R) is not the correct explanation for (A).
(3) (A) is wrong.
(4) (R)is correct. : :
_%fﬂf’c.u_f&;oﬁjﬁb/’;ﬁ.{&;nﬁﬂﬂf. (A)SH
Bt AS L B ®) 2
~e=2lasGp (A)«R) (1)
bl ® @
-« A)  (3)
| <t® @
100. Which membranous structure of Embryo in placental mammals has no specific

function?
(1)  Allantois (2) Amnion (3) Yolk Sac, (4) Chorion

_au"'J”Jf’Uﬂ(_’/ G Aol

Chorion J’ 4) Yolk Sac  (3) Amnion J’) Smr v Allantois = (1)
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PART - III : PHYSICAL SCIENCES

A block of ice at —10°C is heated and converted to steam at- 100°C. Which of the

101.
following curve (graph) represents the phenomenon?
Ufee A s onien T b U () iz 0T 100°C LS AL Siszg-10°C
e A A
T rc
B @ !
Heat Supplied — Heat Supplied -
.,:,JL;'GFJ(“} &JJELEPJ(?‘/;
! t
ol @ .t
Heat Supplied — Heat Supplied —
St 6(‘!(‘-'} i L!("/
102. How much of heat energy will be consumed to convert an ice block of 5 gm at —5°C
into water vapour at 100°C?
(1) 612.5cal Ly 3612 Senl
(3) 6125.4cal (4) 621.5cal
s bnBeIFL LS st e dT100°CI 1) 5a2 —5°C
$ 36125 @) sK6125 (1)
S 6215 (@) 61254  (3)
103. Which of the following will allow fast evaporation, (Liquid and thermal conditions

are same for all the four)

L = e J;l)’;:l é ( “A.LLJJJ.&?)- 1 (’3 Is(Evaporation) /f'ufc:—d ek J( =SS i

i = (ur
o £ @ B
S L R e L Ny SRt e o L T R | (i =
T
@) f @)

V-Phy.Sciences 21-E




Question Paper E
Booklet Code

104, SI unit of specific heat is

= 361 (Specific Heat) S /Ut S.I
(1) Jkg/K (2) JkgK (3) kg/l-K 4) K/-kg
105. Statement 1 : Condensation is a cooling process.
Statement 2 : Evaporation is a cooling process.

(1)  Statement 1 only true, 2 is false (2)  Statement 2 only true, 1 is false
(3)  Statements 1, 2 both are true (4)  Statements 1, 2 both are false

_Lﬁljd-/ M..f (Condensatlon)bz*( 1k
_a.J’f A MJ I((Evaporation) yE ke
1 Y D2 Phd? () -2 Uk Dolol Yd? (1)
e 3UMmL 2 et (4) “SDkuml, 2 =tk (3)
106. An electric bulb and a screen are placed on table in a line at a distance of 100 cm.
To get a clear image of bulb where we need to place the convex lens in between
screen and object (Focal length of lens is 16 cm)
(1) 60 cm (or) 40 cm (2) 30cm(or) 70 cm
(3) 80cm(or) 20 cm (4) We can’t determine
LS Perd Dndle u*ZéJu*JLmﬁ/.l_‘bL 100 cm 4(Table); el A (el

d:”f b K{_’.—J‘F)Lu—d}/"d/éj/r‘lﬁﬂu/ o) Lwﬁ = sl /L 1y (Convex lens) ,.wuﬁ'u"". .:J_[.

(& 16cm
*70ecm (L)30cm  (2) 40cm (D60 cm (1)
é/u*’u‘“( (4) 80em (L)20em  (3)
107. |Material Medium A B 5 D
Refractive Index 1.63 1.33 1.0003 1.5
From the above table in which material medium the light travels faster than the remaining
three
D % B A Ll
1.5 1.0003 1.33 1.63 Y bl
= JL./G”C.LS Eolic uf,.}’ T B (Material Mediﬁm)#’:d) Lu/ = U UL o
(1y - A £ B 3) C 4 D
108. Speed of light in vacuum is
(1) 3 x10% km/hr (2) 3 x108 m/sec
(3) 3 %108 m/sec (4) 3 x10°8 km/hr :
- J&JJL?;JJ&U‘.’
2R 3x108 (2) 25128 3108 (1)
2L 2E3x 108 @) M 3108 (3)
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109. Which of the following is not an application of Total Internal reflection?
(1) Mirages (2) Optical fiber
(3)  Thermite process . (4)  Brilliance of diamond
= SO 41§ (Total Internal Reflection)J @ld"bp{ Ll 'S J’ Py
(Optlcal fiber) .84  (2) (Mirage)—!~ (1)
Lluss @ H¥ Thermite  (3)
110. Snell’s law ¥
(Snell's law) KK
€)) i=_fﬁ_ (2) msini=n,sinr
sini smr
m_ sini 3 =
(3) n, sinr (4)  msinr=n,sini
111. A bird is flying down vertically towards the surface of water in a pond with constant
speed. There is a fish inside the water. If that fish is exactly vertically below the bird,
the bird will appear to the fish
(1)  Farther away than it’s actual distance, lesser than it’s actual speed.
(2)  Nearer than it’s actual distance, lesser than it’s actual speed.
(3)  Farther away than it’s actual distance, greater than it’s actual speed.
(4),  Nearer than it’s actual distance, greater than it’s actual speed.
J“f.r s dL_c.[,u g+ (Vertically) s+ Sts dtwuuwvé,-w‘ﬁ’;u.(
B i /"’ ¢ )’u’g( Ty iaLd:c_J-//Jde;)fgﬁ l (}u{uﬁ/ﬁ_c.
C—JUJMJJ“J}J”LJC—&L’&LJ’ (1)
e B foslic E6 AL (2)
b BT umelic AL (3)
_ ﬂ)LJ'L-JE"JgﬁJJ leeg /’aJLJC"_-&GJ“LJ I (4)
112. Ifan object is placed at 2F before a convex lens then which of the following is true?

(1) It forms virtual, equal size, erected image
(2) It forms real, enlarged, erected image

(3) It forms real, equal size, inverted image
(4) It forms virtual, enlarged, inverted image

i _.-/»L-'fc._ SS o el - /(lﬂ/r/)ZF s33&—(Convex lcns)/ﬁuﬁf ﬂ
_Kyd‘wwmguwwﬁ i (1)
ds’yd*‘bdubmu‘;_/u;.r_‘df’ @)

otz L2 3)
S JBWlze Z 55 @)
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113. Statement 1 : Any ray passing along the principal axis is always deviated.
Statement 2 : Any ray passing through the optic centre is also deviated.
(1) Statements 1, 2 both are true (2) - Statements 1,2 both are false
(3)  Statement 1 is true but 2 is false (4 Statement 2 is true but 1 is false
-Jyulfl,fcwv‘{ dfdb;;/a.(Prmmpal axis) J"?Jf 1 gk
-“c.dﬁuff'f/b/(f d}@bd.;/é:.(Optlc Centrc));‘u’)l/ 12 Yk
_u_?__.u'fu;»l,2...:¢l?.l5 (2) ..u;"gj)l.-au:.’ul, 2<all ¥1(1)
ce Kb Ilb2gk @) -2 ukbedlolk ()
114. The range of focal length of eye lens of healthy human being is
(1) 227%cm-25¢cm (2) 227 cm-2:5cm
(3) - 227 cm-25¢cm (4) 25cm-22.7cm
-< (Range)..»’*’:JJﬁop L' (Eye lens) c.,wd/”u" YUileres”
HEE2s5_ mE<201 (@) HEF2s W HEF2271 ()
KE%027 - KE=25 @) RET3 - K5 01 | 0)
115. Select and match correct combination.

A) Myopia K) Short sightedness, concave lens used for correction

B) Hypermetropia L)  Short sightedness, convex lens used for correction
M) Farsightedness, concave lens used for correction
N) Farsightedness, convex lens used for correction

2 _Ldei’LfJ 3(-..— é‘

oy Paﬁdb}léj..ﬂéf(j bx Ve (K Myopia (A

/ﬁ_afaﬁdb:"'é.ﬁ é?él.* /Zf (L Hypermetropia = (B
/ﬁ]“nydb"h’,_cc f;‘db*.w M

,»js..,mydwé,é(:f:dw» (N
(1) ~AKBM (2) AXKBN- (@) AMBL @& 'AMBK

116.

Refractive index of medium A = 1.3, refractive index of medium B = 1.5. If light
travels from A to B which of the following will not change?
(1)  Frequency (2) Wavelength :
(3) Speed_ (4) Both frequency and wavelength
Fizirdoe (S EBe AGHA15 = USUIZL LB btre1 3= UL D LA bty
_b&ru’( J’ e Uf:—u’"
(Wavelength)#J#®  (2) (Frequency) »# (1)
Ul JEsis  (4) (Speed) . (3)

F17.

At which angle of scattering the intensity of scattered light is maximum

..J:%(Maximum)q ¢ I(Intensity of Scattered Light) _«»JJL—*IZ.J:'// L«'Ldb‘//
(- O (2) - 30° 3) 90° 4) 60°
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118 . The colour of the inner most cone of rainbow when it forms cone shape from the tip
at an eye is
(1) Red (2) Violet (3) White (4) Black

e bl fe e L F U B30 31060 AL Rainbow)T
(Black)ol-  (4) (White) 43~  (3) Viole) * @) | Red) & ()

119. Find the value of ‘7’ in the circuit given

(1) 30 amp
g; 3?malr3np v 30Q 300
4) 0.3 amp
30Q
: ?/jd/ (i) 2 L.j/. uf(circuit),u:é/.-ié_.;
’ A430 (1)
sy 30Q 300 S @
A101 (3
3092
A403  (4)

120. Amount of current that passes through a body more than 1 second that may cause
even death is

(1) 0.00001 amp (2) 0.0005 amp
(3)  0.001 amp 0.07 amp
..r‘.'_“ C,&u,.e’g(death):«f{i.z/ﬁ :uluc.,&-clc.f)duld{’ﬂﬂu(fud/
4% 0.0005 A%0.00001 (1)
A4 0.07 (4) A%0001  (3)

121. Keeping the length constant and cross sectional area of a conducting wire is
doubled then it’s resistance

(1)  doubled (2) halved
(3) no change : (4) become zero
Cross sectional 3 ¥ §sF 17 sl i £, J“/ Y (Length) J# £ (Conductor) J % Ry
-J!i' (Resistance) =2/ /Ju'l/ =3/t area
(halved) s (2) (doubled) u’ 1)
Setnpr @ VA P
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122. The magnetic lines in the figure indicates

(1) If there is no flow of current then only magnetic lines form around the
conducting wire.

(2)  If the current flows vertically upwards (out of page) through a conductor then
magnetic field lines are in clockwise.

(3) If the current flows vertically downwards (into page) through a conductor
then magnetic field lines are in clockwise direction.

(4) If the current flows vertically downwards (into page) through a conductor
then magnetic field lines partially clockwise and anti clockwise also.

by Astet

O,

: -‘Lmﬁu’ﬁbw_jﬁféd‘rﬁmswdxﬁ (1)
Mulgbﬁu{bb&}{_U';((o.__ﬁ’igdﬁﬁéﬁ()J)’J{:I{J)"d‘!fai_ﬁﬁJ‘lfo{.)././ff 2)

: MLV
Muigl:#&:b b e (b Qs iK) S /!’Jé{_ AL e . (3)
B tesl

dszzufwﬁuffwﬁtaL:',:(.,.:tgdy,cr[_;%)._;{?J.;’:{J,%,fg_,jéd‘mr&ﬂ (4)
et dilasiary b

123. Let ‘0’ be the angle between direction of current and magnetic field and it is 90°
then force acting on the current carrying wire is given by

- l}i'ﬂé_bi.ﬁflc{ yds ) - 90° y sl o sli KU_VJJL c)byf*bba'ﬂ'u LE/."G’ J/:/u’/’
. - = bls e s
(1) . I=FLB Yy Zex0 - (3) F=ILB (4) B=IFL
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124. “The induced current set up in the coil is in such a direction that it oppose the
changes in the flux™ is stated by
(1) Farada 2) Lenz _ (3) Oersted (4) - Ohm ..
SE L8N coil erf e (rber U AUt (induced current) 2 (244~
-‘Ll;’/u.lf.i. fu;ﬁlﬂ‘l‘ad/ﬁ;ﬂ/"
o @ B ) A QiiEie @
125. Which of the following statement is correct
(1) Slip rings are used in AC generator to convert electrical energy into
mechanical energy.
(2) Commutators are used in AC generator to convert electrical energy into
mechanical energy.
(3) Slip rings are used in DC generator to convert mechanical energy into
electrical energy.
(4) Commutators are used in DC generator to convert mechanical energy into
electrical energy.
,‘L.:.mul.,.l,ifagﬁ J_’_ BRIV
_%?ﬁdﬁﬂA.C.dWIKSlip rings gi./diufdtf?d’:@fdtl?dz: 4))
-‘Lt‘ﬁuf/‘:ﬁA.C.db‘:’!b’commutatorsgi./diu‘:dtl?gﬁ@fdt'?dz )
—ebw 2 2D.C. 1K Slip rings 2. LSt duidSuify 3
~bye j:)ZD.C.JW"i (commutatorség( é_../J. Afddtl?d/.‘fdt‘l?tﬁ@ 4)
126.  Which of the following gases dissolve in water make the'soluti.on acidic.
LS F A e U L soi
A) CO, B) CaO CYy 80 D) Na,O
1) A&@B @2 @AW&© @) B&C * ©&D
127. Reaction between Zinc metal and Conc. Sodium hydroxide produces a gas. Which
of the following property shown by the produced gas
(1)  Rotten egg smell (2)  Turns lime water milky
(3)  Supports combustion (4) Burns with POP sound
ﬁlﬁ[MGUJJQ_J:Jj,?Jﬂ.u{}b Lnfg,c_.Jb"ukﬂ.ﬂguﬁdﬂfﬁ'ﬁr)@m:f@:ﬁ
| -4/
< Eotemd WLl g () Wediene s (1)
S AL5TEPOP  (4) cGrafite  (3)
128. Nature of Antacid tablet is

(1)  Neutral (2) Mild acidic (3)  Strong acidic(4) Mild basic
_ - .:(.‘JJ df Antacid
sl | @ G @y Ead @ JIF @
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129. Ca(OH), + CO, — CaCO; + H,0.
Which of the following statements are true for the above reaction.
A) A metallic oxide reacts with a non-metallic oxide to produce salt and water.
B)  Itis a neutralization reaction.
C)  Ametallic hydroxide reacts with a non-metallic oxide to produce salt and water.
D)  Anon-metallic hydroxide reacts with a metallic oxide to produce salt and water.
(1 @Aonly (2) B)&C) (@) (A).B&MDEH (©)&(D)
‘ Ca(OH), + CO, — CaCO;3 + H,O
..u"u»w...l.bdfc,ufgf:o»iéﬁxﬂt.ww
-§.tt-,.dg»|_fr£f._}wv£ AT Qs Liif S Tl (A
_:_de',w.,( (B
e bl GL SIGAL AT Bl T3S umwuu..f (c
-c;tbdt;:f_ﬁﬁ/db’a.fél/" T Tl (@
(D)#(C) (@) D)~(A),(B) () (©)#(B) (2) (A)J/" eY)
130. Find the wavelength of a photon in centimeter whose energy is 3 x 10718 erg.
(h=6.626 x 1027 erg. sec, C =3 x 100 cm/sec.).
-er(u’ S (wavelength)bfd:"d/ (photon)ul.*ii.béxdti! 3x 10718 erg.
(h=16.626 x 10-27 erg. sec, C = 3 x 1010 cm/sec.).
(1) 0.6626 (2) 6.626 (3) 66.26 (4) 662.6

131. Which of the following diagram violates both Pauli’s exclusion principle and
Hund’s rule?

-

_‘Ldndiw..ﬁUi'd/u;’»dr’i&i’wldy‘iég:"ﬁd& LS b

R EY B RIES I OO R I R
G) - it @ N [t

132.  Which of the following four quantum numbers represents differentiating electron of
sodium atom?

sl §ps6Unsle L (differentiating electron) Idts i JOPL p 2 E3rd Ut it

gl S
1
(1)  n=3=0m=0m, =+ RTINS =_%
1
(3) n=2,1 =1am} =O,m5 o +"5. (4) n =3,I= l,m! =+l,ms =+%‘
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133.  Which of the following statement is not true?
(1)  Light is an electromagnetic wave.
(2)  Electromagnetic wave is a mechanical wave.
(3)  Electromagnetic waves are transverse in nature.

(4)  The speed of electromagnetic wave is 3 x 10'° cm/sec.
-au/ MJ)UL'UJ(G-J J 30044
<t m"bu»d/_f iG (1)
—e Ly sz"’t,-»o/ )
-& Transverse JJ’J Cr‘lf} Lﬂ"d/ (3)
_4-,30><10’° cmis B ErtEEL: @

134. ‘n’ and ‘7’ values of four electrons given below.
Identify the correct arrangement of increasing order of their energy levels according
to Aufbau principle.

umc‘_.bl.)nﬂw/dr‘u’/cf.i’d/(}tb’u'u' U‘Zc..JufJJJJ,dJ I’Jsi‘n’d/u)i/-"'/bla
S/ L U1K (Auf bau)l 6T U-ALJJ-_M./

A) n=4,1=1 B) n=3;l1=2 C) n=4,/1=0 D)  n=5§1=0

(1) B<C<A<D 2) C<B<A<D

(3) D<C<A<B @4 A<B<C<D

135. Regarding modern periodic table which of the following statements are incorrect.
A)  The valency of 18t group elements is ‘0.
B)  Elements in same period having same number of valence electrons.
€)- Except hydrogen all the S-block elements are metals.
D)  Asgodown in a group the metallic nature of elements decreases.

- J:ls...atl.«rifc.u" J3tsUte L (Modern Periodic Table) e $ss14 4
- (/“)0 J/J/VLH}/‘Z}JIS (A
__ag.y:yrm/f SIS S LS PN Sl (B
-u*uf lm/‘VJUv Srl/oslkégfu,vl, (C
_adr@l;d/u‘../’r"dwnf/lfu"d_biu"'._,:f(}fd ®

1) ©&D) 2 B&EC) (@) @B&D @ B)(C)&(D)

136. Which of the following pair of lons have different number of electrons.
_4_JL';J’A’,JQJ’/‘[JL.J?(JIJ}U’(LJJJCJJ
(1) Na*t,Mg>* (2). CI,Ca?t - (3)  F,Na* (4  H*Li

137. Which of the following chalcogen family element belongs to 4% period.
(1) Tellurium (2) Selenium (3)  Sulphur (4) Oxygen

~& Lw(u*w =147, 45 l{uulp(chalcogen)u’ )ﬁ lal.J:(c.u" J RS
FT @ E o de @ )
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138. Predict the atomic number of the element belongs to 3rd period and 14t group.

ol ¢4 (predlct)df S F J (atomic number)s4(§; 2 & g /ﬁ..bdf;(}w - ._«J/ri/ s14slmse &

1) 6 @) . 16 () -4 @ 13

139. Which of the following molecules do not contain a triple bond.

_c_u"( 12+ (Triple bond).£:! 7~ .._«UL«JK LS shoner

A) O B) NH; s e 2 D) HCI

1) ®B&D) @ @BO&D)B) A)&D) @) (A),B)&(D)

140. Molecular formula of a metallic carbonate is X,(CO3);. Then the molecular formula

of its phosphate will be

M Uk st (T e Xy (CO) KK e
(1) X5PO, (2) X(PO4),; (3) XPO, (4)  X,P04

141. In which of the following central atom does not follow the octet rule.

- e/ u‘.’f Usz0 (Octet rule)dfl K=2 (central atom) 7.2 /'} L P s J: 3o 4r

(I) BF; @2 GH,  (3) GCH, (4) NH;
142.  Number of Lone pairs, bond pairs present in ammonia molecule
-~ ;wd’ (bond palrs)wjiﬁyf(lone pair)/z A2yt L Ly
{1y 3.1 R e oy 2,2 1 T e

143. Arrange the following metals in the increasing order of their reactivity.
Calcium, Zinc, Mercury, Copper, Sodium
(I)  Mercury < Copper < Zinc < Calcium < Sodium
(2)  Sodium < Zinc < Calcium < Copper < Mercury
(3)  Copper < Zinc < Calcium < Mercury < Sodium
(4)  Sodium < Calcium < Zinc < Copper < Mercury

I ASR T &//:LJ- J (react1v1ty)Jl;Julfu:‘ I.wd’ R1O%,

( ;rc/(djﬂ’/‘uﬁ«(:u
(;r>(’-‘-/>u6>/K>d;// (1)
d;//>/K>(’£’(>._6>(:r 2)
(J}">6J)’(/>r4'j>u6>/g (3)

d}//>/(>u6>fu (»”

4)

144. Which of the following method is not used for purification of crude metal.

(1) Poling (2)  Froth floatation
(3)  Liquation (4)  Electrolytic refining
_Lbbufdwléﬁd_/_:bfab:rb.e))’lf')ra.u‘d),?z# .
e @ By
o Jb@:/?l @) Sk

(1)
3)
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145. Which of the following is a carbonate ore
(1)  Pyrolusite (2) Magnetite (3) Lime stone Rock salt
_r_'-(carbonate Ol'e)-..rlﬁ’j .!'J{U)(LJ J’ S04
S @ uHA (3) sk A (1)
146. The reducing agent in thermite process is
(1) Carbon (2)  Aluminium
(3) Carbon monoxide (4) Magnesium
= -&(Reducing agem‘.)Jf uL fufu' Jf & (Thermite)4L /
SR L R ] et/ 3) (‘ S sk ()
147. Which among the following is/are unsaturated hydrocarbons.
-t (Unsaturated Hydrocarbon) /63,47 {.w'/l:d_:(c:.u" J R
a) C;Hg b) C/H; c) CH, d) CiH,, e) CH,
1) ®),(&W) @) (a) &®d) (@B) ®&@ & (@ & (e)
148. The formula of methanoicacidis
Ee. Lo K. 7 (Methanoic)JS¥ 5%
(1) HCOOH (2) CH3;COOH
(3) CH3;CH,COOH (4) CyHsOH
149. Which one of the following can show isomerism?
e CC/ lb(Isomensm)d//(' u;(c_,ufJ’ B
(1) HO (2) BeCh (3) NH; (4) C4Hjo
150. Choose the correct matching.
Chemical reaction Name
a)  CH,COOH+NaOH——CH,COONa+H,0 1)  Esterification
b) CH, = CH, +H,0 C;‘.—?ﬂ,’g’>CH ,CH,OH i1) Addition reaction
€} EH, + Ol — 3 Lo Cl i iii)  Neutralization reaction
d) CH,COOH + CH,CH,0H conc.H,804 ) iv) Substitution reaction
CH,COOCH,CH, + H,0 SISz
< Jody
u’J’/d sl CH,COOH + NaOH ——» CH,COONa + H,0 (a
S i CH, =CH, +H,0 ——C’g;'i>CH3CH20H (®
Skse s i CH, + Cl, —Smligt_, Cch C14+HCI c
o gy CH3c00H+CH3CH20HL“*2&—> d
CH,COOCH,CH, + H,0
(1)  a-iii, b-ii, c-1, d-iv (2) a-iii, b-i, c-ii, d-iv
(3)  a-iii, b-ii, c-iv, d-i (4)  a-i, b-ii, c-iv, d-ii
WRW
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